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Exercice 0.1 ⋆⋆ Pas de titre

Calculer

I =

∫ b

a

x

√

(x− a)(b− x)dx

Solution : On écrit (x− a) + (x− b) = 2x− (a+ b).

Or

∫ b

a

((x − a) + (x− b))
√

(x − a)(b− x) dx =

∫ b

a

(x − a)3/2(b − x)1/2 dx −

∫ b

a

(x − a)1/2(b −

x)3/2 dx = 0.

D’où 2

∫ b

a

x

√

(x− a)(b − x)dx = (a+b)

∫ b

a

x

√

(x− a)(b− x) dx =
π

2

(

b − a

2

)2

grâce à l’aire du

demi-disque. Le résultat

I =
π

16
(a+ b)(b− a)2

en découle.
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